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(P81 X)
T4 TEEr IEME BIFEHA
EKEMRETE |BRIIE—TH ¢ 100 L= 100 m 5A
INFI—-TH ¢ 400 L= 30 m 6A
TEZFt ¢ 300 L= 300 m 6H
FEHT ¢ 300 L= 190 m 78
T=+Hr ¢ 150 L= 155 m 78
KF1H ¢ 300 L= 300 m 8A
EEZTH ¢ 250 L= 250 m 8A
KE—TH ¢ 100 L= 160 m 8H
HSET—TH ® 150 L= 135 m 9AR
RHAE ¢ 150 L= 120 m 9A
LE—TH ¢ 150 L= 354 m 9A
T $100 L= 110 m 9A
KEZTH ¢ 300 L= 30 m 108
rgigE—T Bt ¢ 400 L= 100 m 1A
BROTH ¢ 150 L= 580 m 1A
AKAR=TH ¢ 150 L= 240 m 118
RFWRHEH ¢ 200 L= 250 m 128
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UhEdEX1/2)
ITE4 TEEr IEME MBI ¥EAR
EEKEMZBIE |BAZTH ¢ 150 L= 350 m 6 A
INXFZTH ¢ 150 L= 290 m 68
EEEOT Btk ® 150 L= 525 m 6H
EARET ¢ 200 L= 230 m 6 A
== HT ¢ 450 L= 150 m 78
ZyE_TH ¢ 150 L= 283 m 7H
RETZTH ¢ 150 L= 290 m 7H
FHE-THE ¢ 150 L= 320 m 7H
BEK=TH ¢ 100 L= 290 m 7R
F=M|EET—TH ¢ 100 L= 355 m 8H
FEHET—THE ¢ 100 L= 280 m 8A
BEA=TH $100 L= 290 m 8H
FEHT ¢ 100 L= 258 m 8A
ZH_-TH ¢ 250 L= 170 m 8A
£HE—TH ¢ 150 L= 210 m 8H
hH—TH ¢ 150 L= 310 m 8A
BEHaI—TH ¢ 150 L= 192 m 9H
BRA—TH ¢ 100 L= 157 m 98
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UhEdEX2/2)
T4 TEEr IEME BIFEHA
EKEMZBIE |BE—TH ¢ 100 L= 170 m 9A
®ByE_TH ¢ 100 L= 290 m 9H
FHATH ¢ 100 L= 320 m 9A
fAE—T B ith ¢ 350 L= 250 m 104
E®=TH ¢ 350 L= 250 m 108
BY_-TH ¢ 100 L= 143 m 108
K EHHET ¢ 100 L= 106 m 108
ZEB-TH ¢ 100 L= 145 m 108
ER=-TH ¢ 700 L= 150 m 128
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UMERX)
ITE4 TEEr IEME MBI ¥EAR
EKEMHRTSE BEE=TH ¢ 600 L= 350 m 6 A
EE-THfth $75 L= 125 m 68
SFIEARETZTH ¢ 100 L= 230 m 1R
RKEMZBEIE |[REMTH @100 L= 180 m 6 A
RITR—TH ¢ 100 L= 286 m 6H
hE—TH 75 L= 200 m 6A
RE=TH ¢ 100 L= 330 m 7R
RFEEFH ® 150 L= 120 m 8A
HMARETZTH ¢ 100 L= 160 m 10A8
EERATH @100 L= 104 m 118
IF—TH ¢ 250 L= 290 m 128
HERETH ¢ 100 L= 130 m 128
RFRH ®50 L= 155 m 1H
STRPIERDA xenzm EHAOEH st 97
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(EIRX)
IE4 TEEM ITEHME EIFEA
EKEMRELSE A 4 BT ¢ 100 L= 150 m 58
RFiEH ® 100 L= 270 m 7H
BB M —T Bt ¢ 100 L= 150 m 117
HARHE ¢ 400 L= 160 m 128
RFT T ® 100 L= 300 m 1A
BARZTH# $ 100 L= 90 m 1A
5317};;5?155le$ Cpea:i) ® 900 L= 500 m 6 A
Cpea:i) ® 900 L= 200 m 7R
RFERH ¢ 250 L= 600 m 7H
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(J\BBHX)
T4 TEEr IEME BIFEHA
EKEMHRTSE MR T Bt ¢ 100 L= 90 m 1R
BKEMZBISE |XKefTith ¢ 300 L= 300 m 6 A
Tr T ¢ 100 L= 190 m 6A
XB&ZTH @ 400 L= 160 m 7R
PRZTH ¢ 400 L= 420 m 8A
FEARHETEN T B fih ® 150 L= 280 m 9A
FH—TH ¢ 300 L= 400 m 118
RILHT it ® 100 L= 130 m 128
ikE—T B fit ¢ 100 L= 280 m 1A
?g’lﬁﬁﬁgl$ =ML T B e $700 L= 60 m 108
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(J\tEFERX1/3)
T4 TEEr IEME BIFEHA
FEKEMBBEIE |EOR=TH ¢ 450 L= 40 104
BEKEMERTSE WEE=TH ® 100 L= 290 8H
toBE=-TH ¢ 75 L= 130 98
ZEDOR_THf1th @100 L= 240 108
EKEMZBIE |BlILHETH ¢ 250 L= 300 6 A
ZEDOE—TH1h ¢ 300 L= 420 68
FOR=TH ¢ 100 L= 450 6H
fER=T Bfth ® 100 L= 500 6 A
RIEKETH ¢ 150 L= 110 6 A
KRAFEHT—T Bt @150 L= 450 68
=IZTEfth ¢ 100 L= 470 7H
INE=TH ¢ 100 L= 120 78
BEH=THfh 100 L= 400 8A
74 1| BEHET ¢ 100 L= 100 98
BOE=-TH @100 L= 190 9H
ZINZTH ¢ 150 L= 30 10A
PNE N ¢ 200 L= 150 108
# THT ¢ 100 L= 200 10AR
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(J\IEFEX2/3)
T4 TE&ERT TEHE EILFEH
EKEMZBIE |(WIL=TH ¢ 100 L= 210 m 118
RoyHE—TH 100 L= 140 m 1R
ZRI=TH 75 L= 100 m 118
5I1%—TH 100 L= 150 m 128
MHE—TB{th ¢ 100 L= 170 m 1H
WEE=—TH $100 L= 130 m 18
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(FAHX)
ITE4 TEEr IEME MBI ¥EAR
EKEMRETE |[BUIAZTE# ¢ 100 L= 580 m 6 A
EI=THfth $100 L= 320 m 8H
FBH=TH ¢ 100 L= 95 m 98
RE=TH @100 L= 210 m 128
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